o NE g =0 B % B 2 12
11 2 @ G2 1 £2-4 (K) 9:30~11:30
=% & SEIHRAL
ol 2 e 1 #£1-3 () 9:30~11:30
3l 2 8@ e kE | Zm2-4 (B) 1330~1530 | smmRtEYS—
4 ¥ @ @ WE | B2 4 (&) 1330~1530 SEIHRAL
5| vaLLBABE | Ak B | 213 (B) 930~1130 | smmRtyy—
6 5 = wE ER | 2.4 (&) 930~11:30 SEIHRAL
7 EE AP Bk 28 | Bm1-3 (W) 1330~1530
SEIHRAL
8 2 hs B | 1.3 (W) 930~11:30
O| YZPDIZHD AR F£1-3 (N) 9:30~11:30
SHHRE S —
o] ZUROER #1-3 (W) 1330~1530
w0 =2
| MvBEDEHDT— B 1.3 (k) 9:30~11:30
SRR AL
el )N DIVOER Z1.3 (K) 13:30~1530
ol BT oES BR % | B2 4 (K) 1330~1530 SRR AL
| TOBUD-52 | #®%k == | #1-3 (k) 1330~1530
SEHERE S —
5| TOBUD—=S2# | &Il 8F | 13 (K) 1000~12:00
o] EEkE =K D | B2-4 (W) 1330~1500 | smmrtyy—
vl 3HEST«2A | 2B AF | 513 (&) 10830~12:00
SR (4B
18| IHNEST 1 B Bl FR £1-3 (&) 13:30~1500
19 HREEStep F2-4 (N) 930~11:30
o|  HEAEStep2 TOYZ. | #1:3 (3 930~1130 | mElbEAS
21 HREEStep3 £1-3 (&) 930~11:30
2ol X0 UL\EEE A& WE | B2 4 (K 1330~1530 AR AL
23 g =1 £1-3 (A) 1330~1530
=& & AR AL
24 o= Z2.4 (B) 13:30~1530
25| XD UL \AKEZA Z2.4 (B) 10.00~11:30
R SRR AL
2| OELLAIEEB #1-3 (&) 1330~1500
o FRIHIELY =1 MRS = 3 (&) 930~1130 | EHHREYS —

REEDHR




